3050 FROM GROUND LEVEL TO TOP OF MOUNT PLATE (CRITICAL)

QTY

ITEM DESCIPTION PACKED

BASKETBALL MAIN POLE

BASKETBALL EXTENSION ARM

FRONT UPRIGHT - LEFT

FRONT UPRIGHT - RIGHT

REAR UPRIGHT - LEFT

REAR UPRIGHT - RIGHT

CROSS BAR WITH TOP PANEL

REAR PANEL

SIDE PANEL

CROSS BAR JOINER

Al N alalalalalala

BACKBOARD ATTACHED TO THE
BACKBOARD FRAME

PRORIM (R11b) BASKETBALL RING

16

BOLT A: M10 X 75 MM S/S HEX BOLT AND
NYLOC NUT

10

BOLT B: M10 X 120 MM S/S HEX BOLT
AND NYLOC NUT

BOLT C: M10 X 30 MM S/S HEX BOLT
AND SPRING WASHER

BOLT D: M10 X 90 MM GAL HEX BOLT,
DOUBLE FLAT WASHER, S/WASHER & NUT

BOLT E: M16 X 50 MM H.T. GAL HEX BOLT,
DOUBLE FLAT WASHER AND NUT

( )
\ ﬂ \
\ ! | FRAME VIA HEX BOLT & NYLOC NUT BOLT A
| | ANGLED BOLT A
| | ARM BOLT A: _
\ \ M10 X 75 MM S/S HEX<N \{ oTe (1 >
\ \ BOLT & NYLOC NUT /
I~ / R GeAR REARPANEL  RearpaneL/  RIGHT REAR _goLTE:
N/ B § B - BOLT B: UPRIGHT UPRIGHT
‘\
DETAIL \ SIDE PANEL SIDE
SCALE 1:10 LEFT FRONT RIGHT FRONT PANEL
' N\ BOLT A UPRIGHT CROSS BAR & UPRIGHT
\ TOP PANEL BOLT A
«<
\ \_ BOLT B:
2200 o BOLT B:
\ (. BASKETBALL BOARD
BOLT D: M10 X 90 MM GAL HEX [l | " ATTACHED TO THE FRAME
BOLT, DOUBLE FLAT WASHER,
SPRING WASHER & NUT 2
BASKETBALL PRORIM (R11b) BASKETBALL
EXTENSION ARM RING
N -
AN
dlb
\ BOLT E: M16 X 50 MM H.T. GAL
HEX BOLT, DOUBLE FLAT
WASHER, & NUT
REAR
LEFT 3150
UPRIGHT k BASKETBALL FRONT ]
<—>| MAIN POLE UPRIGHT 3000
e . CROSS BAR WITH
; TOP PANEL T = = [,
o] o |
i\ 1286
o
Te}
\ 8 \RIGHT
CROSS BAR JOINER FRONT
3 UPRIGHT
O BOLT C: M10 X 30 MM S/S BOLT Ez') o
|_
E & SPRING WASHER § 2| 2
Qo I | o
R S
N
g
2 ol GROUND LEVEL 0 s
NE 1. ALCATRAZ/BB S Lo sl |
< P © lo. 4 - P - w © oL .': s
i S COMBINATION R ';;:, o bs A | % e ;
i [ : : S fena Qs - AR
R i FUTSAL/BASKETBALL = g . S NN
4 = NOTE: - o
il N ALL FOOTINGS TO BE: 450 . 2 450

N20 CONCRETE FOOTING SUITABLE FOR
CLASS 'S' & M' SITES ONLY AS PER

AS2870

TITLE:

ALCATRAZ/BB (ARIES)
COMBINATION FUTSAL &

BASKETBALL
e SSEMBLY DETAILS 1

//A{AY HARD

Oz Ring Pty Ltd
Trading as:
Play Hard Sports Equipment
ABN 79 066 094 559
24 Ern Harley Drive
Burleigh Heads Qld 4220
Phone: (07) 5593 4494

Fax: (07) 5593 4338
Website: www.playhardsports.com.au
Email: email@playhardsports.com.au




	Sheets and Views
	ASSEMBLY


